Appendix B

Normalisation of Solution
Mechanisms

Here is an example of using mass action analysis for the simple solution of

Puy,O3 onto both the A site of a pyrochlore.

2PuyO3 +4A) + 2By + Of — 4Pu, + 245 + V' + A;,B,0;  (B.1)

[Puzr [A/Br [Vg} = exp <Alfjfd) (B.2)

From charge neutrality:
Pus] =2 [Ap] =4[] (B.3)
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Substituting equation B.3 into equation B.2

[Pu:r 411 [Puﬂ i i [Pu;} = exp (Akgfd) (B.4)
% [Pujl]? = exp (A]Zf(’l) (B.5)
[PUZ] =167 exp ( A?ff) (B.6)

Therefore the normalisation factor is 7.





